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L~'i[-f~~1tm A&B ~t~~~:l.itla~ · A~~.1:.£1:-t~£.fa:t..60%' B.~.1:.£1:-t~ 
£~:t.. 40% • ifi11.-PIT .1:...{:t..~ l.fo /;l:i**i!*a,~~t1 A *~ ~ ~ 2% ' B.~ ~ 5% • 4'-$ B; 

1:-~£~t.~~~-#..{~,a~••~1.-_~l~'~~k.1:...{~A.2:t.._._~? 
(A) 0.625 (B) 0.375 (C) 0.393 (D) 0.607 (E) tJ.J:. ~ ~F 

2.~ 1lt.~ ~t~ 'if *.jj1~1i~~ iL ' 1~tt~;:4i.-- 51 *1i.1lt~t tif.1:.!t~ lfJ~*_ 0.01 ' "N.r"H~ 
Jlt_1i.~.:jult1tt ~~ -t~51 !Jif.1:.i5tFflfJ_*_1if? 
(A) 0.0388 (B) 0.4362 (C) 0.9606 (D) 0.9994 (E) tJ. J:. ~ ~F 

3.~ 1l:i.::r..~ ~ :t...::r..~l=!t.:jzit}]li.vt ~ l1:.tk?}ic.(Poisson Distribution) , .!f.t.~*..f-~if.1:. -.:jz • 

~1i.**-~~if.1:..::r..~l=!t~it:t...!f~it&~Ait?}m4~? 
(A) ,u=1, 0'2 =1 (B),u=l, 0'2 =2 (C),u=2, 0'2 =2 

(D) ,u = 2, 0'2 =4 (E) J:J.J:. ~~f 

4.T 9~1if::tt~ n~1t fJi ~M(confidence interval) lfJ tti!likiE~ a? ? 

L{£~ ~ lfJ1t fJi&(confidence coefficient):t.. T ' 'it fJi r! MlfJ Xli. ~:ft1! • 
II.1t ftii ;t: rt; 1t fJi ~ ra, lfJ 1(. ~;t: ~ 0J 

III -it1t.!f~itlfJ 95%1tfJir!M ' ~;Fjl:i~ra't-~*"-itIt.!f.t.~itlfJ~*k 95% 0 

(A) I, II, III (B) I, III (C) I 

(D) I, II (E) J..J.J:. ~ ~F 

5.~it.t~~tt9rffl't~PIT.~lfJ-t.tk1IU1hlfJ (Jl~£.jt,Jt lOmpg)' !§4~~WlfJ 150t~ 

-t"'~t R~ 14 t~lfJJl~k+~ lOmpg· ~-.Jf::tt4otM-Jlt1::mlfJiE~l/i.. 'M-i1!.1t~tl:!l! 
".·~~~~~~~95%lfJ'itfJi&'A.41i.3%:t..~·.M~.I::tt~S~.~~.-t.t? 

(A) 30 (B) 150 (C) 20 (D) 275 (E) 363 

6.~-fk;f'4/,t} ii]~{l~ W~ .1:...{i.it1Jt .1:."{lfJ A fl~i~ it 20 #i. • ~~:t J:lfJt~.£k 0.4 ~ it ' 
1tHl:i.1:...{!i A Nt~i *G $t:t 1::t..~Jt.itlfJ 95%1t *Jt ~M4 
(A) (0.2313, 0.8533) (B) (0.2224, 0.7924) (C) (0.0889, 0.3169) 
(D) (0.0925, 0.3413) (E) J;AJ:. ~ ~f 
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7.~-t-~~ ~1lIl1a ~h (Bernoulli)-i#:ftfr.J.!f.i~ttk ~;f!l ~ , ;s. ~ ~Jlfl*tt1})j'J ~ nl $t n2 ' 

~~~.~tt:lfr.JttJ.1t~ 0.2 ' ftlJ p-1t~~k 

(A) P(Z<O.2) (B) P(t<0.2)' ~ 'f t fr.J ~ tb lt~ n] + n2-2 

(C) 2 P( Z> 0.2) (D) 2P(t<0.2) , ~ 'f t fr.J ~ tb lt ~ nl +n2-2 

(E) J:)' J:. ~ ~F 

8.~"~1lIl-i#:ft.fr.J~1:.1;H,,':J!' 1~ltt1})jtl}tiR 250 ~ 3001m-MVJlHt, 1ffl.*~1:.1;~]51 ' ]52 ' 

& # IaJ fl.* l:1:.1tJl (pooled sample proportion) ]5 , M {f. it J. ~1lIl-i#:ft ~1:.1tJj .£ fr.J 95%1t fJW~. MHi- ' 
(N ~-~ fr.J1}E~~~1}E'~~m#A~E*~. 

(B) 1t fJt r& ra, fr.J 'f .rs ~ PI - P2 

(C) 1t,tji r& Mfr.J .:f-1t~ Z0025 x ~]5(1- ]5)(_1_ + _1_) 
. 250 300 

(D) ~1t.tR ~ fa' 1t~ 0 ' ft1 {f. ~~~~ 8~ , {f. «=0.05 r ' ~1" /f: t-~E.~@. Ho : PI == P2 

(E) 1t.tRr&Mfr.J.:f-Jt~Z x (Pl(l-PI)+PZ(l-Pz)
0.025 V 250 300 

L>2 == 351 Ly2 =953 ttyftx fr.J~/tti@.1tit.i\~ y a+bx 0 Mi@.~itb ~0 

(A) -8.39 (B) 4.39 (C) -7.39 (D) -4.39 (E) 3.19 

10.tiJ:.l! ' itr", a+b ~1tJl~li'i 

(A) 46.55 (B) -12.33 (C) 18.38 (D) 26.77 (E)-18.38 

11.1tJ:J. 20,40,60,80,100,120,140 .1£-A+~ 7 ~-i#:ft ' ~ .tl:.-i#:ft 'f J:J.l!,w, ~-.i\~

.iW ti:: - A+~ 4 ~{l.* ' .It*~.ififJttx 0 ~ e.*1f~l:.-i#:ft.~.!fJ;?:;tt.u = 80 ' 

if~tt 0'2 = 1,600 ' ftlJ X .f.{l.~~c.~.!fifJtta*".~~)j'l ~1iif ? 

(A).ux 80, ax =20 (B) .ux =70, ax == 14.14 (C) .ux =80, ax == 14.14 

(D) .ux = 80, ax == 6.4 (E) .ux =90, ax:;:; 20 

12..Jt.~~ tblta ;ft1bfr.JF~f!jc.fr.J (i )100tha~1l'l.ttJ:J.Fa,h,l_a ~*, Ma~1l'l.it 

Fnl 1,112-1,1 a .f.m­
(A) F n1 - 1,1I 2 -I,a (B) F 1Iz - l ,nl-l,a 

(D) IlFn2 I,nl-I,a (E) J:J.J:.~:jF 
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13.~~~ltHo:,u==24 v.s. Ha:,u<24 '1'~.tIi-tl'*-it~~~' r1IJuJJlS-~Ji-tl*:l~ 

iif~.* i.A~Ha(e.p~~@.Ho)? 

(A) X == 20, S == 3 (B) x=21,S=6 (C) x=22, S =4 
(D) X == 20, S =7 (E) tJ. J:. 't ;Jf 

1~~-.&~.~~~~.~.~••_iif.~.~~'~~••••-._~iif. 

1'F;Jft-:#Jt ' ffl~lt-;f4~""f 0 .~ A : ~l*it 15 ' +~it 18 ' ~~it 1.2 ; .~ B : -tl,*­
it 10 +~it20' ~~it 1.5 0 ~:m.fl;-~.-;:~' -lfi]l~ 95%~iif1t&.JL~*+~ah!lI 

"4H~l ~ :£~1£ 0.5 tJ.""f ' 1»;.fa ~ j,' 4# *1'Flft'4i ? 
(A) =n2 == 42 (B) n1 =n2 =18nl 

(D) n, == = 21 (E) == =20n2 nl n2 

15.~ - AA ...iiAii@.. ·;~:A~1 It1& it r2=0.81 ' M~ ~it~ [!l ~it·~··.Ail Ml1~ itiW 

(A) 0.6561 (B)'iifnGiW+O.9 siO.9 (C)5biW.iE.tt (D)5biW. it (E)~i!-*1 It 

1.Jil.~ ~ r:B &. a ~ b ~ F ~~c.~ (1- a )100th a ~1.n.itl-:,( F a.b .l-a *-~ "~~ 1J!-tl'*-it 

~~~ ~ nl ~ n2 ' ,tjlj WJ 100 'f I.-it. €f.J ~~ tUb(0'~ 10'i ) €f.J (1- a ) 100%1t~ IA rlil' 
iW1~ ? (4%) 

3.- ~Ji.-tl,*-it n=lOl ~I!l.-tl.:.$. , 1l;fl.:.$.+.i~ttx =50.34 ' -tl*~JtttS2 =13.43 ' ~ 

l-:,( ;f! .:.$. ~ ~ tt iW ~ It ~ Jt it €f.J 1* 1+ 1.t ' 4'- e iW ~ 95% ~ 1t 1~ :£ -W- JIll ' !!p 

(6%) 


I 
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4A.~~~~.~~a~.M*~.~At.~~o~*-.*.A~~~~.M 
0*~.$tjcDr*" ' eA;t1ip-J:~~ttA 83.1 ' ~",,'£A 10.43 

56 63 65 68 72 72 73 75 77 78 


78 79 80 80 80 80 80 80 81 81 


82 84 84 86 86 87 88 90 90 92 


92 93 93 94 95 96 97 98 100 100 


.1~.A.~~a*' ••~4••a'.~.t'~a~~.m~~~~~~ 
*~:Mtk.aIt J.-~ ~fJic. 0 (6%) 

5.4 - ~ .:r~""it~*Jf(One-way ANOVA).:(..r,,~J! @..-t- 31IJJItlI:(treatment) , 1iJ4U:-1IJJItJ! 

~}Jtl* 18, 10, 151IJJ-M}A'11.t o~ e~D MSE=6 'F=31t~ ttl Jt~~~.lit'$}~*" 0 (10%) 

6.j:J. r A Two-Way AN OVA Design (.::.~ .:r~.lit~~1~lt) &.*4, J{. tf 
Factor A "~(TreatmentA, B, and C) , Factor B .'/i.}JI1(Male or Female} 0 

FactorB: Sex 

Factor A: Treatment Male Female 

Treatment A 320 380 


240 300 


TreatmentB 160 240 


180 210 


Treatment C 240 360 


290 380 


I 


